At ea RS R B GR(—) AR
FX B 945117148 Kb kX
F 148 & 1500, 5-6&20% . AN L E e R

13X, -, X2 — g p.d.f.f(2|0) i & 4 2 MR A&, 0 = (11,0), pE R, 0 >0,

%6_(x_u)/o— 737 Z ,LL7

f(x‘()):{ 0 O

(i) 2, 0% kdn, RKOZ — R A2 G3HE; (i) Zotde, KKuZ — R DAY G3HE;
(ill) Zptse, XKooz — DA% E .

2. %Xy, Koy B o0y M AR R B B R 2, £ A (a/k)(n/(n + B),
1<k<n,RAK(o,f)Z—RDAEFIGE .

3. F X1, o, Xp b~ A BIRS L3 G o T A A MR A, LS =[-3,-1]U]0,0],
0>0,:KK

(1)0=MLE; (ii)§2MLE, % 2 4 9 & 69 X;’s & #a 3];
(iii)02 MLE, % R 409k & 69 X,'s 2 A% T ,

0 ,x <0,
F(zlo, 8) = (x/8)* ,0<x <6,
1 , T > [,

a,f>0, KK
(i) (o, B) 2 — 1B =404 >3t 8; (il)a, BZMLE,

. % Xzp.df & f(10) =1/8, f(20) =3/8, f(3]0) = f(4|0) = (1+6)/8, [(5]0) = f(6]0) =
(1-0)/8,0 €0,1] , &kK(1) 0= — & A H>43H8T; (i)02MLEF,

6. XAUO0,0) 5, 0 FAiTHH HE(L) . KK
() E&RX = a2 F, 02 Fg o ()02 B REHE .



